
予習 授業の前にやっておこう！ 

 

1.   
予習(a) 

鉛直方向のつり合いは、 

0V =∑ ： 0A BV V P+ − =   

モーメントのつり合いを点 A で考えると、 

(A) 0M =∑ ： 0
2B
lV l P− × + × =   

したがって、 

2A
PV = ，

2B
PV =  

となる。 

予習(b) 

鉛直方向のつり合いは、 

0V =∑ ： 0A BV V P+ − =   

モーメントのつり合いを点 A で考えると、 

(A) 0M =∑ ：
2 0
3B
lV l P− × + × =   

したがって、 

3A
PV = ，

2
3B
PV =  

となる。 

予習(c) 

鉛直方向のつり合いは、 

0V =∑ ： 0A BV V P+ − =   

モーメントのつり合いを点 A で考えると、 

(A) 0M =∑ ：
3 0
4B
lV l P− × + × =   

したがって、 

4A
PV = ，

3
4B
PV =  

となる。 



予習(d)(e)(f) 

鉛直方向のつり合いは、 

0V =∑ ： 0A BV V+ =   

モーメントのつり合いを点 A で考えると、 

(A) 0M =∑ ： 0BV l M− × + =   

したがって、 

A
MV
l

= − ， B
MV
l

=  

となる。 
 
















